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QUESTION 1

Which of the following is true about the V-model? 

A. It has the same steps as the waterfall model for software development. 

B. It is referred to as a cyclical model for software development. 

C. It enables the production of a working version of the system as early as possible. 

D. It enables test planning to start as early as possible. 

Correct Answer: D 

 

QUESTION 2

Comparing TMMi and TPI, which is not a valid reason for choosing either TPI or TMMi? 

A. If the scope of test performance improvement covers all test levels, TMMi is preferred since TPI focusses mainly on
black-box testing. 

B. If the organization is already applying CMMI, TMMi may be preferred since it has the same structure and uses the
same terminology. TMMi addresses management commitment very strongly and is therefore more suitable to support a
top-down improvement process. 

C. TPI is much more a bottom-up model that is suitable for addressing test topics for a specific (test) project. 

D. TMMi can only be used with the traditional V model,whereas TPI can be used with all types of software life cycles. 

Correct Answer: D 

 

QUESTION 3

Explain how the above mentioned report may differ from a report that you produce for the project manager, who is a test
specialist Select TWO items from the following options that can be used to report to the project manager and would not
be included in a report to senior management. 

A. Show details on effort spent 

B. List of all outstanding defects with their priority and severity 

C. Give product risk status 

D. Show trend analysis 

E. State recommendations for release 

Correct Answer: AB 
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QUESTION 4

Which of the following is the main purpose of the component build and integration strategy? 

A. to ensure that all of the small components are tested 

B. to ensure that the system interfaces to other systems and networks 

C. to ensure that the integration testing can be performed by a small team 

D. to specify how the software should be divided into components 

E. to specify which components to combine when, and how many at once 

Correct Answer: E 

 

QUESTION 5

A bank is developing a new service that will be delivered via the web. The user interactions are defined as a set of use
cases and the service is designed to be available continuously 24/7. In view of the challenging characteristics of the
service the test manager has decided that the code should be thoroughly tested at component level. 

Which of the following test types will be required during the development? 

A. Functional testing to test security at the system level, load testing at the system level to ensure the system availability
is acceptable, regression testing at all levels, structure based testing at the component level only 

B. Functional testing to test the use cases at component level, reliability testing to test availability at the integration level,
regression testing at the system testing level only, structure based testing at all levels 

C. Functional testing of the use cases at system level, load testing at component level to ensure availability is
acceptable, regression testing at the system and acceptance levels only, and structure based testing at the integration
level only 

D. Functional testing to test security at the acceptance level, load testing at the acceptance test level to ensure
availability is acceptable, regression testing at the acceptance level only to ensure late changes are made correctly, and
structure based testing at the component level 

Correct Answer: A 
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